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1|int _ cdecl main(int argc, const char **argv, const char **envp)
2
3| char s; //f [rsp+eh] [rbp-1E@h]
4| char v5; // [rsp+Feh] [rbp-Feh]
5
@ & memset(&s, @, Bx1EuLL);
@ 7 printf("Please Input Key: ", 8LL);
@ 8| __isoc99 scanf("¥s", &v5);
@ 9| encode(&vS, &:z);
@ 1e| if ( strlen(&5) == key )
1| {
® 12 if ( !strcmp(&s, enflag) )
® 13 puts("You are Right"};
14 else
® 15 puts("flag{This_1s_facker_flag}");
16
@ 17 return @;
& aal
1lint _ fastcall encode(const char *al, _ inte4 a2)
21
3| char v3[32]; // [rsp+l@h] [rbp-78h]
4| char v4[32]; // [rsp+3eh] [rbp-58h]
5| char vs[4@]; // [rsp+58h] [rbp-38h]
6| int w63 [/ [rsp+78h] [rbp-8h]
7| int i; ff [rsp+7Ch] [rbp-4h]
8
® 9| i=8;
® 18| ve = @;
@ 11| if ( strlen(zl) != key )
® 12 return puts("Your Length is Wrong");
@13 for (1 =8; 1 < key; 1 +=3 )
14| {
® 15 v5[1i] = key ~ (al[i] + 6);
® 16 va[i + 1] = (al[i + 1] - B) ™ key;
® 17 vi[i + 2] = a1[1 + 2] ~ B ™ key;
® 18 *( BYTE *)(a2 + i) = vS[i];
® 19 *(_BYTE *){a2 + i + 1LL) = v4[i + 1];
® 20 *( BYTE *)(a2 + 1 + 2LL) = v3[i + 2];
21| }
® 22| return al;
® 23}
. data:bobobboooaea4a08@ entlag db "izwhroz"w v.K".N1i",@
.data:0000000000004060 3 DATA XREF: main+B8Fto
.data:080820000004873 align 2eh
.data: eaepeRERE0004080 public key
.data:p0p0000000004080 key dd 12h ; DATA XREF: encode+2Dfr
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A

enflag=[105, 122, 119, 1e4, 114, 111, 122, 34, 34, 119, 34, 118, 46, 75, 34, 46, 78, 105, 9]
flag=""
for i in range(0,18,3):
flag+=chr((18”%enflag(i])-6)
flag+=chr((18”%enflag[i+1])+6)
flag+=chr(18”enflag[i+2]"6)
print(flag)

B %flag: unctf{b66_6b6_66b}
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